PAPER - I1I
MANAGEMENT

Note : Attempt all the questions. Each question carries two (2) marks.

G@HLY : eréver eflenmés@Ers@Eh el wallssea|b. geubeurarmlh@d @rear®h (2) wdHituearsar.

1.

The elasticity of demand is greater than unity, when
1)  Percentage change in demand is equal to the percentage change in price.

2)  Percentage change in demand is more than the percentage changein price.
3) Percentage change in demand is less than the percentage change in price.

4)  Thereischangein price.

Spdbseni. Chemer GHFIDaSHHEMD LWSILITL ML ol DIFH LD 6IIGILITIH 6160160

1) Gaeweuuied gBUBLD  ITBBHHET  alwdast®, almeoulsd  gmuBL  LTBB
Al(PSBTLIYBSHF FOWTEH B(HHGLCUTSHI

2)  Gopemeuuled gmUED wIHBB alpssT@h, alemeoulsd gmUBLD LIBB  elpSHSTL Nl
Al oFHsons AmbdHeam Curgl

3) GComeuuiled gmuBL BB alwssth, ealmeoulsd gBUEBLD LLIBB eSS 6L
alLd Gopauts mdbHem Gumg

4)  alemeouied MMM gBUBSHEB CUITZ

GDP includes which of the following measures?
1)  Thesize of apopulation that must share a given output within one year.
2)  The negative externalities of the production process of a nation within one year.

3)  The total monetary value of al fina goods and services produced within a nation
within one year.

4)  Thetotal monetary value of goods and services including barter transactions within a
nation in one year.

GDP Sipssemi srouBenpolulsveOTd o 6Tl sasluig?
1) @ SwieB@&eT  SIUULL  QUI[HEMET — HRIBEHSGT  SLLTWD  USTHSE
CBTeTeNSEanIgUl 1DHHET CBHTENHUTET Di6TT6y

2) QUTWIYBGH6T @h BHFHHen alenenOUTHeT BHewL (pewmulled GhHD  6THITHenev
LUB& gamI861T

3) @ BILYBGH6T 2 (HauThSIULL aiSHIl uTmLser wBBID Caameudserer
Qorsg L6t FIIL QITewIYBEH6T6NTS

4) @ BILYBGT @ITewigB@&GeT OTshs alemenoummlael CFemeuseT  LOBEBID
uewrL LoTBmL UfleuTshGHemerdel SLaweuBBIel OLoTehg Lewt oL
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3. Indicate the correct code matching the items in List — I with those I List — II as

follows:
List—I List—1I
a)  Competitive parity in advertising )  Variationsin advertising
b)  Promotional elasticity of product [1)  Advertising scheduling
¢)  Optima promotion mix [11)  Advertising expenditure
d) Pulsing advertising IV) Margina equivadence of advertising
media outlay

a b ¢ d
1) 1] v
2y | AV
3) | v 1l [l
4 IV 1
UL 1gulIed @eimled 2 sifeeulenmll L igulsd @JewihLel QumheHd Sleummibater  Fifluimer
GBui L s@EllbGs

U guied | U iguiev |1
a)  alembLylLBHHIH0 o 6iten Gumiig 1)  euafibLlILBHH6I60 2 6iten CoumILITHSB6IT

b) OQurmeier oiF&fiy Grdpsaemn 1)  alembuyd S Byed
C) uwer Benmey GCIbLTGS &l B [11)  afembuys GFevaied
d)  mmsSsgiy afembLymise V)  efembLiy o6l QUG LIENLDAT 6D
allefibyBleney FLoeiTenLD
a b ¢ d
1D M1 v
2) | v 1l
3 | v 1l [l
4 v 1l TV
4.  For a production firm, the pecuniary economies arise from which one of the following
sources?
1)  Large scae production
2)  Purchasing and market economies
3)  Indivisibility of factor inputs
4)  Learning economies of workers and managers

QRH 2 _BUSHH HBleUaTHH60, HDHEWIL 6hSH (LPeVaIeTSHH 60 (HhdH Oubuyer Gummeflued

2 (HEUTGLD
1)  Guiw oere) guimfliy
2) MEIGSH6E0 LOBBID HBSTQULIGSHHE0 CUTHEMTSHTFLD
3) oLEBDH FmpIFeT 2 eeiBaeien LGS0 SHeitenlo
4)  eamPuitsel, GeoreniTeenend &BBeL OLIM(HETWLED
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A market penetration pricing strategy is suitable when

1)  lower price encourages actual competition.

2)  thedemand of the product isinelastic.

3)  theproduction and distribution costs fall with increasing production.
4)  ahigh price discourages competitors from entering the market

OImBTY Goleheiimed alenev MHiTewil o a5 6IGUTEHI GMBLML WIS 6T16IBT6V,

1) Gopouter allwev o eawienowimer Gumigeny oad@aldSBal

2)  QUTHEHGHITOT BHM OHBIDBHHMBBSHI

3) 2 pusHF siFsliiiugred Gummlseaier Swmiliy wBpid udlieysF Ggeveyse &b

4) s o2 wihs ealwev SmETQUIed  GUTLIQUWITETTSET HleDMEIL  Ll6vTerTenL W&
CFuIHBS.

Y our department is made up of people who are very different in their lifestyles and their
stages of life. Sairais a 23-year-old single parent who is working for minimum wage. Amit
is 60 years old, extremely wealthy and works because he enjoys it. Rahul is single, 45
years old and has few interests outside the office. You have decided to attempt to apply
Maslow's hierarchy of needs to motivate each of these individuals.

Y ou would expect that Sairais trying to satisfy which need?

1)  Esteem 2) Sdfety

3) self-actualization 4)  Physiological

o miFHeT Hlewmuled o 6fern  W&NHTH6T GCeuesiGouml  CUTLDEHENH(LPENBHEMEMUID,  UTLDE6IT
CoueiiBoum &L L miFerlled o _eitemeuTHenTEda D E\HSHSmetT.  FTUITT 6leanid 23 Ui
BBl GUBCBIT, GmMbHH meldb@GL Ul QFWLBIT. OIS DIBIUS WISTEIGUT,
UeSSTIT, Uewlemwd FhHlHTagbHBETEF CFUISBIT.  JrGHe0 45 euwSHTer  Hellwmel
DINIVSHHIEHG Oeualluled oo  SiTouITL L Bidemend  GdTemghLILIGUIT. RIALIING
SHNBUMILD 2mbGaldbGl o hHiHn GBS LmevGeoraler Ligbeneond GChHemeusemerLl
ufiFedlds CouewiBld 6leim BHHRIGET (PYey OFUIH il leTHel.  BHIG6T FTUITT 6lhHsH
Cxpemeusnw Hemme GFuleusBaTsll Lewl CFUISBIT 616aiml agiTumTahalpiTaern

1)  swwdly 2)  uUTEHISMIL
3)  &W Henmey 4) o Ledwed gl L g CHemeusel

If a hard-working athlete or student with modest abilities consistently outperformed a
more gifted, but lazy rival, this indicates that

1)  if either ability or motivation is inadequate, performance will be negatively affected
2) if both ability and motivation are inadequate, performance will be negatively affected
3) if either ability or motivation is inadequate, performance will be positively affected
4) if both ability and motivation are inadequate, performance will be positively affected
BHQIOTE 2 _MPSGD  alemenwT B IJT  HILVH  LOTETIEUT  SIGTEUTET  SHLBMELHEN6ETSH

CamewiLeuT FHemeowmall wuiBd  QFuig, @ OIHEH  OBTEILUEMLUI  DLEITEL

GambBGuplwimest erglgmaienw Oeuaiml alBheudl 6TmHd ST (HHMSEH 6THIBT60

1) oBsBGor sevevg 2 bhaisGor Gurgiotaisted Seveorsh Gurgl, CFWED  H6TEnLD
agmmplensouied LTHSSLILIBLD

2) oBpalb, omHGalbsHd @GO UBBTEGBWTS  BHHGHLEUTSH. G&wed
HetenlD 613 MHlemevulled LITHSBSLILIBLD

3)  aBpGoor oebeng 2 haHsGom Curgioteistes @eveors GCuTh  CFWeLSH6TNLD
GpiTBlemevuiled LITHSHSLILIBHLD

4)  oBBID, oaiHGalsHdHd @il CurHw  geneled  BmEEGWEUTSI,
Gawevgetenio GhimHlensouled LITHSSILGLD
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8. The leadership model that integrates the expectancy model of motivation with the

Ohio State leadership research is

1
2)
3)
4)

Fiedler's

leader-member exchange
autocratic-democratic
path-goal

HEMGVEMID DT 6D, 2 [hFHIHEVe eIHTUTTIL T gL 6T Benembd  @amGuim  ommBlen
HEELEMID HLUI6Y 6160160

1
2)
3)
4)

LI 60T’ 610

SHENELAUT -

o minfent LfleuTdhaement

HETONFMFWITRT — LOHHETTL & (LPeDBUITEIT

LUTengd - B6evsHEG

9. Match the following

List—1I
a) Grapevine
b)  Unity of Direction
¢) Timeand motion study
d) Budget
Codes :

a b ¢ d
3 I A VAR | I I
) I 1 | B AV [
3) vV ol I
4) 1l 1 ] I A VAR

SLDSHHEWILaUBeMBL  CLIT(HIHHIH

U guied |
a)  FCr emeuest
b) SmsCunmenorin®
C) Guyb BB Buibs U]
d euge QFeveydh HiLid
GINICE

a b c d
1 N A VAR | | B I
2) v 1
3 1Vl I
4 1l m 1w 1

M1603

List-11
I Tool of control
Il Scientific management
[l Form of communication

IV Management principle

U guied 11
I &L BLUTL B Hma
I opfealwedyien MiTeurasid
[l sseaued QFHTLTIWED 6ugaIDd

IV Guevremtentouilled &(HIHBHTEHHLD



10.

11.

Assertion (A). A manager delegates authority.
Reason (R). Manager wants to shirk his responsibility.

1

2)

3)

4)

o miFamsdluid (A)

I GOTLD (R) Guwevmen Hevig QUTBIIMUS S 19HHI06HH al(HLDLS BT
1) AR @yewio Gwut RA eyssmer gflwmer ailendald

2) A/ R @gewipb Guul sypemmed RA eydbsmer sflwmer alendasoais

3) A Guwul semed R Gouiwies)

4) A Guuiwem semed R Gioul

Both (A) and (R) are true and (R) is correct explanation of A
Both (A) and (R) are true but (R) is not a correct explanation of A
A istruebut Risfalse

A isfalse but Ristrue

‘Job Rotation’ means.

1

2)

3)

4)

Redesigning jobs of workers

Assigning additional activities to workers

Moving workers from one job to other

None of above

U6l &HMEl TSI

1

2)

3)

4)

o NUITEHENEH LINIHeN6N LOTMS  6U196UmLDSH60
o AWITHEHHHD FnBHV CFWEOLITHHM6T GSHIHEH60
oanfliTdemen b Lenlluled(hbad oBOBTMH Lenld@ BHHToHHIH0

GLoBOFTEIE  6T1516)LDGTHI

@ GeomenT DIHBMTHMBL LSTHSHeMSHH OFUIeOLIHSHIHIS BT
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12.

13.

Rearrange the steps of Maslow's Need Hierarchy Theory.
a) Sdf - Actualization Needs

b)  Physiological needs

¢)  Beongingness and love needs
d)  Sdf - esteemn needs

e) Sdafety needs

Codes:

1) a d C b e
2) a b c d e
3) d C b e a
49 a d c e b

rerGeuralenr Chpemer LgBlenevd OBmeTensUleT LigHamen LOBIQOmIE Fu1s
a) &Ww peooseydh GCHeneusmel

b) o LeslwebanT GxHemeusmeit

c) o Len LBBID STHSBHT ChHemerusmel

d) sw wHiy Cxemeuser

e) urgsmils Cxhemeusserr

GNCETR

1) a d C b e

2) a b C d e

3) d C b e a

49y a d ¢ e b

Which one of the following is a training technique in which trainees act out parts in a

realistic management situation ?

1)  Actionlearning 2) Roleplaying

3)  Behaviour modeling 4)  Casestudy

SpHHMILaUBBIET 6hd @b ULIBE o SHHuled uuIBdlwmenitser Gouiwimer GosumeTento
FLpevled LMICHMmI [HlodadlettmentT?

1) Gswedurm (s SBBeL 2)  urEBlmev allewemuiml (B

3) BLSHMG LOTLGI6D 4)  selpuUT SLUle)
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14.

15.

16.

Arrange the steps of Performance development process steps in the correct sequence

from the first to the last. Select the code of the correct sequence :

a)  Learning Internalization and Application
b)  Persona Learning Plan

c) Personal Development Plan

d) Performance Appraisa

Codes::
1) d),0),b),d 2) a),b),c),d
3) d),b)0),3d 4) d),a),c),b)

Qweoum’ B  (peiGeiBm  HEOL (LPdBUTET  LIgHMeT  Q&IBI
Fremwsasad Leaterm Fllwrer eauflend

a) o efefued SMBBeL LOBMILD LWGTOHT6Teme0

b) Oambs sBBEL H LD

c) OQamhs WPaCaBBHSIL L LD

d) OQsweour (B WHII G Di6vE

GIINCER
1) d),c),b),a 2) a),b),c),d
3) d),b),c),a 4) d),a),c),b)

(PHO  BmgE ey

The two dominant aspects of industrial relation scene in the modern industrial society

are covered in which one of the following?
1)  Conflict and conciliation

2)  Cooperation and conciliation

3)  Conflict and cooperation

4)  Cooperation and codetermination

@yewih CuwGeommig OFmMed o Bey &M gl ufioTanmiser o 6o bHealalardh CHTLHO

FPHHHL HDEHBMIL 61bFH QB DEGHLD?

1) OpméEsy wBEID LHeanbms (PYedbEHd CETeni(h 6(hH6e0

2) Sl (pmey BEpID Lewidmsd (PedH&Hd OFTewi(h 6HHeL
3)  OpGSslg BYID S GBey
4) gl (bBey LOBEID LB SHTOTEID

Market values are often used in computing the weighted average cost of capital

because
1)  thisisthe simplest way to do the calculation.

2)  thisisconsistent with the goal of maximizing shareholder value.
3) thisisrequired inthe U.S. by the Securities and Exchange Commission.

4)  thisisavery common mistake.

WSl gerr  Fyrafl  elemev  WHMIS  Hewl@iILGSHHINDCUTH  DMISTY  OHILSH6IT

SIYHFlY LWETUGSHSILGHBSH ghlemeied

1) omsta sansdbhausng o ful waab eefemwwmer el SLE@L
2) uRIGSHTIT WwHlmU HHSNEGD BeubGHD BFH HmeHHe| 2 L WIS
3 ®x US - @ear utgisteeTser gl  Uuflafbsmer  GWealBds

Gxhemeul LGS B
4)  B3% @ Ourgurea Syl
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17. You are given a job to make a decision on project X, which is composed of three
projects A, B, and C which have NPVs of +50, -20 and +100, respectively. How would
you go about making the decision about whether to accept or reject the project?

1)  Accept the firm'sjoint project asit has a positive NPV

2)  Regect thejoint project

3) Break up the project into its components and accept C only
4)  Acceptonly A

® MBEHHEG @ Uewl SIUUL(BeTendl.  QPUINSHHL LD eiugl U (p9e] BHS

Gouemrguwl uewl SIFH. UGS L LD A B C aanib cperil ouuleyd &I L BIbEMHD

NPVs + 50 - 20 + 100 g dlweuBenss OamenmighliLeaBpslar gl Lennd SibdH DU1e|s

HULHMS gBUST allevdbGeudT 6aiLigl UBBW (Wwigalenel BHhiseT ey eIGLILITaHeT?

1) pPoeuasbHear gl B pUSIHLEHmS gBmid CBTeTEphiser.  goaieisd Dig
Griplenev NPV  Qasmemingmésma

2) &l s FHLHmS HImsilujmiser

3) aued FLHMS DS LOGum gmpismenl LUGSHIHHH C eww L (B
gBmIs CaTeTs

4) A oow wLGBL gBBIG OHTeTH

18. How are earnings per share calculated?

1)  Use the income statement to determine earnings after taxes (net income) and divide
by the previous period's earnings after taxes. Then subtract 1 from the previously
calculated value.

2)  Use the income statement to determine earnings after taxes (net income) and divide
by the number of common shares outstanding.

3)  Use the income statement to determine earnings after taxes (net income) and divide
by the number of common and preferred shares outstanding.

4)  Use the income statement to determine earnings after taxes (net income) and divide
by the forecasted period's earnings after taxes. Then subtract 1 from the previously
calculated value.

eTeleuTml eelCeum(h URISBGWL o M eurpoTerd SenidbdL LILGSBEHI?

1)  eumeurwlt  oPfidmamull UUSLGSHEH el EhsGULIHmSU  QUHLOTETSHMSHD
SHToTedhak  (HHF  auHLTEND) DweHF e sTeusl LHHw  euflsel
CFsHHWLSBGL  LIHddHW  UHLTRISHHHSH MUGHSHOD  LN6TenT  Hemreha L
WAL 6T QeITenBd SN HHAILD

2)  eupomer SNiGemsmWL LWETLGSHSH uflasl uHBUTS aHLOTEOISHMSHS HToTENHSI
(F&T aUBHLTRID) DIMSHL CUTHIILIGIGH6T6T  6T6uT60TNHMBUITED  61(GHH DD

3) eumTel OPidmaeenwl LwebBh  eufleer GuTs  euhLOTOISHMSHSH  SHTLOTNHB!
(B®y  eu@pLTEIND) Slwd  OUTHieUTeT  slewlanidmad  LBEBID  aldHHHBESGW
LIIGB61 68T 6T60T60011&6mEBULITED  6)(F) B LD

4)  peuFHe  aufe] OFoSHLLE  samiliys GG  Wseld STl
(WHLB LRSS GBS Ged @mimeld @M@ CuTg

19. The capital budgeting appraisal criterion that is most appropriate in the situation of
capital rationing will be

1)  Payback period

2) Internal Rate of Return

3)  Net present value

4)  Profitability index

(VS auJe OFvaSFHI LS sewiliys GPUIG Weaybd Semwemwnsgl  (1ps5Hedl (b
LRSS BF @&HWe0 SmImIID EhobE&nELTSI

1)  uewid FHHUISSHHD HT60 Si6me]

2) e 6 wWLBUELB algsd

3) Bulurtensw QWLTHS LHIIL

4)  @®euru aleuy elendasd @GMIUILBU UL 1guIed

M1603 10 G



20.

21.

22.

23.

The appropriate method to derive the growth rate according to Dividend- Growth
Model for equity valuation is

1)  Growth rate of sales over aperiod of time

2)  Plough-back ratio multiplied with return-on-equity
3)  Plough-back ratio multiplied with net profit margin
4)  Growth rate of fixed assets over aperiod of time

FlpWOsTend  auenTdFdl  Faallly HWILG  wiLedeanny euenT&dd  aldsHmmd

MBS BUSBS JBB LPOD

1) @m elullL smslL Senalmnea alBumeT eueTFd aldsd

2) emusHme B (WPHSH CFUIHN alSH OCLHISMIL T FHaY ST euHeuTUl

3) emuSHmS WEM (PHSH CFIH aldlsl CUBSSSHHILT GLoTshs @eurL  LomTedles
QL& HLD

4)  pewds CaTiHaisselsd GUIULILL &Tev Slenaleorer euenTFd aldlHb

The ————— 1s the specific mix of advertising, personal selling, sales promotion,
public relations, and direct marketing tools that the company uses to pursue its
advertising and marketing objectives.

1) Vauemix

2)  Integrated dealer mix

3)  Marketing communications mix

4)  Marketing control mix

aaiugl  elembuyld, SHelwimem elBuener, ealBusmer Gubum® , T
BeoBa], GBIy SmETYd HHalH6eT pHwBBET LTS, HBICUSTHIHTED OIH6o
allemburIuBHSHL BBILD DIRISTQLILGHH60 CHToHSMISEHHGL LWSTLGHSILGHI MBS

1) iy sl G

2) QESmaIbHS alBLeILTENT gl (B

3) QmSTYULGHSHID OHTLALIwed &nl (B

4)  omEMeHs S GUUTLH dnl (B

Micro environment factors are considered to be —

1)  Closeto the company 2)  Not close to the company

3) Bothl) and?2) 4)  None of the above

BIWT FHLPAIUWID SiHHdH FnBIH6T EmImIeND &(hHBHLILBE 61360

1) POoaSSIE SIEnisETaIs) 2)  BneESSHI 6T SIEDIHHIBBS!
3)  GCumsmpiw Syewi(HLd 4)  GCuomampiu eIgeb SieTyl

Roy and his friends go out every weekend and drink until they get drunk. Then they
drive home in that condition. Which type of consumption does this represent?

1)  injurious consumption 2)  severe consumption
3) conspi cuous consumption 4)  unethical consumption
JTLD SlUeID HeWILITHEHD eealteur eumy SmidHuisd Geuefluiled Gaerm, Geuewrgul
LB GYHHOILG UHTTH6T. DbHHF Fpeved ai BHG euemngemul @l lgdh CsTem B
AUMHAUT. B eleleuemd HIHTe] 6UNGHMUWIL LITHB HHHIUILGBHBHIS MBS
1) S LSS HISTe| 2) UGS HIHTE]
3)  Uovel mIsTe) 4)  OIBOBBFTT HiBi6y
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24. The market process involves which functions

1)  Buying
ii)  Storing
i)  Grading
iv) Risk hearing

v)  Transporting
vi)  Financing
1) i, i, i, and iv 2) i,iv,v,andvi
3) i, i, iii,iv,and v 4)  All of the above
DIRIBTY HOL(POB 6% OFwelenet 2 _eiTenL saluig)?
1) QUG FH6V
1) FLmdled CxidmHev
i)  euflewssd SO0
1v)  QUSMHHEF CFalBHHEHe0
v) GBursgarsHs Cguigeo
vi)  Blglujgeued
1) i, i, i, B iv 2) i,iv,V, B Vi
3) i, i, i, iv, By v 4)  GuBaImBu DEETGHSID
25. Assertion (A). Marketing occupies an important position in the organisation.
Reason (R). Marketing is the function of business concerned with creation of a consumer.
1)  Assertion (A) and Reason (R) both are true
2)  Assertion (A) istrue but Reason (R) is not true
3)  Assertion (A) isnot true but Reason (R) istrue
4)  Assertion (A) and Reason (R) both are untrue
o Mg ambAuwd (A) HoeIRISHHD ESTYLILGSHHN 0E (PHBHW B ID audbHma

aryewid (R) QM BISTCTMT 2 (HauTd@GHeaudled alTUTTSHH60 DIMIBTIQLILIGSHSHID
QFwed OHTLTLEmL WG]

1) A oppid R Guui

2) A Quwui gemmed R Guouiwiesty)
3) A Quuiweim gpemed R Guoul
4) A wppid R @rewi(pd Gouiuwleis

26. Value analysis is normally applied to

1)  New products 2)  Old products
3)  Future products 4) Both 1and?2
HO uGLuTUley QUTEHIITS @FSBGL CUTIHHIHIS MBS
1)  ysdw ummLseir 2)  uwpw QUL SHei
3)  edlitameols QUL eI 4) 1 vBpwb 2

27. Which of the following is not an inventory?
1)  Machines 2) Raw material
3)  Finished products 4)  Consumable tools
SpHHMILUBBIeT 61g HewiLF Cangpemen ojeiml?
1) Bubdmisern 2)  epeolIOUITHL BHeiT
3) WsslulL  QUTHL &6 4)  mHTYd BHHaIH6N
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28.

29.

30.

31.

32.

Average stock level can be calculated as

1)  Minimum stock level + 1/2 of Re-order level

2)  Maximum stock level + 1/2 of Re-order level

3)  Minimum stock level + 1/3 of Re-order level

4)  Maximum stock level + 1/3 of Re-order level

gynaf e»aulmBly Sieme| QmImed S LILIGSBH

1) oGopbsuls osulmiy Sene + Y2 by aufleng Siene)

2)  oPsuls aUWmBLY Slemey  + Y2 1op auflens Sjeney

3)  Gophs easulmliy oene + 1/3 vy aflms e

4) g Fasu’ s osulmiy Sere + 1/3 wpeufles e

P-D-C-A stands for

1)  Plan-Do-Check-Act 2)  Plan-Do-Correct-Act

3)  Proceed-Do-Check-Act 4)  Proceed-Do-Correct-Act

P-D-C-A @smaid @HbdnBa

1) Plan—Do - Check —Act 2) Plan—Do - Correct — Act

3)  Proceed — Do — Check — Act 4)  Proceed — Do — Correct — Act

ISO emphasizes on

1)  Prevention 2)  Inspection

3) Reection 4)  Acceptance

IS0 auelljpigsieus

1)  sbuy 2) Ganmpewen GFU1ZH60

3)  mymafsse0 4)  gBmIdb OCBTeTEHSH60

If «=0.05and f#=0.10, the power of that hypothesis test is

1) 015 2) 0.90

3) 085 4) 095

a=0.05 =010 aeapred SpHFH HHBHICHTET CammHemenuienr BB B

1) 015 2)  0.90

3) 085 4) 095

By taking a level of significance of 5% it is the same as saying

1)  Weare 5% confident the results have not occurred by chance

2)  Weare 95% confident that the results have not occurred by chance

3)  Weare 95% confident that the results have occurred by chance

4)  We are 98% confident that the results have not occurred by chance

GEUILBH oleney 5% 6IGIm COEHTERILT6L, DiFH @EIBEID FnBIISBEG @UILTEISH DG

1) o6y WyeHeT SBOFWLeTE CHIHBHET DIeL60 6SILF60 BHIEGeT 5% al(psaT®
o pFHwres o 6MGenmid

2) S8 (WY BT FHBOFWE BlEDaIevev LS  BImSeT 95% o miHuins
2 6T@enmid

3) oIe] (PIYeyHeT FHBOFUID HlHe] eyl HThIGeT 95% o miFuins o eGenid

4) olie] (WYeFeT SBOFWED HEaucev eaTLHeL BTIEET 98% o mFHuns

o 6it@ermid
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33. Which of the following are the components of data warehouses?

1)  Metadata

Ii)  Integration Programs

lii)  Summarized data

iv)  Archives

1) i,iiandiii only 2) i,iiiandivonly

3) i, iiiandiv only 4) i, i, liiandiv

HIQ| HOMAUTL  B60eVmIGBEMEIT FnBIBETHS BHIDHHEMWIL 6T6UMBDH FnIH6T DML GIBET
1) QLT sHrey

1)  @EiGEmD LGCITalgmibaei

1) OHTGHSSIULL H6)

V)  SLaI6IThnL MIGH6IT

1) i, ii @b iii o G 2) i, iii w@mid iV o Go
3) i, iii w@md iV o G 4) i, ii, i wBmD v
34. Match the following:
List—A List—B
a)  Connectsavery large number of i)  Topology

devices and spans across a dispersed
geographical location covering many
cities.
b)  Encrypted communication tunnels i)  Ethernet
with access control and user authentication
¢)  Physical or geometric arrangement of
the network influenced by the
physical connections of links and nodes i)  Wide Area Network
d) Loca areanetwork technology that iv) Virtual Private Network
sends communication
a b ¢ d
1) i) i) iv) i)
2) iv) i) i) i)
3) i) iv) i) i)
4) i) iv) i) i)
SIDHWILUBenBS  QUM(HEHHIH:
Ul guied A U0 B
a) U6 BBIHIBMETDH BTN LFhHSBILIL L 1) GLmumeogy
Bevaiuled LIFLILIeNeY IH®  6T66T6m1HemBUTeVT60T
S(mHalseMer cLpevlD EenemnTsHe0

b)  GIILESHL  OHTLTIWE SymiBauL i) FsTOmL
LWIBISHILITG oBBID &6y GupIHeL &L BUUTH
C)  HBaI  OHTLIMOIIIGHT G (hHHIE aILIL] i) ubs Hen BeneuwiliL

et 1960 CeuaTlILIDLWITET — HeWiHDd HewIhDL (B
(emBUleemLohS  EeneutliLLl
YelTellas@pld, FhHID HemIbdHEHLD
d) SBaIMEL SIIILD 2 _6iTErHT V)  altFgeaied St Seneuwili]
Hom Benewililjdh OHTLHe0 HI LD
a b ¢ d
1) i) i) iv) i)
2) iv) i) ) i)
3) i) iv) i) )
4) i) iv) i) i)
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35.

36.

317.

From the following statements, identify the correct answer:

Statement |: The chi-square and ‘t’ distributions are aways symmetrical distributions.
Statement 11: If we have large enough sample sizes, the assumption that “the samples
are drawn from anormal population” can be discarded with ANOVA testing.

1)  Boththe Statements| and Il are correct.

2)  Statement | is correct, but Statement Il iswrong.

3)  Statement Il is correct, but Statement | iswrong.

4)  Both the Statements | and |1 are wrong.

SpHewiL.  uThHWmIseNed gflwmer ealwLemwd  HewiBLIg

o miFeaumsBwd |1 g Gamw, LSBITHe0 a@wer  eiIBuTgID  CFehdyment
CFaOeUTIOmIG LIFTe|SH6IT

aumsdwn | BT Guflul orHfl  Slenemeuds  CBTERIQ(HHSHTEL o flaeit
Buwieoumer 1&H6T OHTensullelhhah CHTHOSHHHSLILL L HI 616TaDILD
&mHBHICHTeT  DIBevrToUT Gxitallesr cpsold  HeTemILIBGSMBSH

1)  lospwll g Syewih eurtddwmbisesd  Flluimeatene
2)  eumadwid | #f, gemed  eumsSwid 1l Heum
3) eamsHwud Il Ff, gemed  eundSwd | Heum

4)  eaursSHwd | wBpbd |l P e Heum

Strategic management allows an organization to be more
1) complacent

2)  proactive

3) authoritarian

4)  reactive

CFWeTHSSHHHGD UWSLGSB HTaUTHalwed @ HnleUaishamd LHdHeab
1)  WUewas aHMBmLLSTS HhdHESHI B

2)  Qswemevd FHTBeT HHWEF CFUIFH GHLOMVDH H[BHHGHET  MeUHFHED
3) 9oFsmb WHEHTE YHGHHBH

4)  aHTFFwNBHTE UGS BSHI

The emergent approach to strategy entails:

1)  largely sequentia development of strategy analysis and devel opment
2)  aninterrelated development of strategy analysis and devel opment

3) anunrelated development of strategy analysis and devel opment

4)  both thefirst and third answer above

CeuaMiuB SiEDIGWemB  OCFabeuTImIMmES EEIBIWMDWLTHSHI DHGHIBESI.

1)  Guiigd  weBluGSSILLL  (WeBaBssd  Geweddl Ll u@Glumuie]  LOBHID
(&S GeTBmLD

2) Oy w (WweatGamm G Fwedd LI u@liuruie] oBmIb (WeTGemmmsLd

3) QLY @eveurs GFWeOSHLLL uGUUTUley LBBID (WerGarBmL

4)  GupOaTerer (P&He0 LBBID cLPETBTeUSH 66Dl eI
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38.

39.

40.

A key characteristic of strategic decisions is

1) They are likely to be concerned with, or affect, the long-term direction of an
organisation

2)  They are normally definite decisions about the future of the organisation

3) They identify specific areas of dtrategic interest for the management of an
organisation

4)  They result in better organisational performance

CEWweITsHs (P1Ya|H6lel (HSH6TenDd Snyl

1) Smeu HBleuaisHHer HWIL  HTeL  HewFUL el OFHTLILDLWSTH, SHTHHHMHDH
BamhpielHge

2) owal HBeUaTHHET HTHTVD GHPHSH 2 MIFHWTET (LPIQ6|H6IT

3) poeuer GueomemienodGTw  GUEILILL  QFwed UL TeUBTL L BIGHemeT 6D
SBITGUOTLIGOT

4)  ppeuer GFwedsperemnd FBLILTT alleneTeursds SienLO66T

Strategic choices require an understanding of:

1)  the underlying bases for future strategy at business unit and corporate levels; the
options for developing strategy in terms of directions and methods of devel opment

2)  the business environment, the competition and the strategic capability of the
organisation

3)  Thekey drivers of change

4)  The organisational strengths and weaknesses

Gawed FHLL eumuwiiyser @Uifigeneo Geuewrheuest

1) aewis ST  GTHTETVF OCFLOH L  SIQSHH6NLD, Fnl LTWINID I H6N,
(WweBammpd  CFweLHL L  allplyse, (PaTCaBBsh HenFHel LOBMILD  (LPEDHBHEIT
g feor

2)  auemiad Gpblenev, CUTLl, GFWEHI L HMSH HOL(WOBLLGHSHD Snlgul HBIeUeTS
Slmeir

3)  LIBBHH (WPHBW 2 [HFHIGHE0H6NT

4)  HBUSISHT 6uelleNDSH6T OBBID LIGVAIEIRIS6I

Strategic drift, where strategies progressively fail to address the strategic position of
the organisation, is frequently followed by:

1)  Transformational change

2) Demise

3)  Transformational change or demise
4) A changeof CEO

Ceweddl L LenL GuwiTe), BHpeuaisdHler Fuwed mamevamw GHLLGusBE WBCUTEGEF
CFweLd L LmideT SHeuBIbGUTH BHeIL 6T HSHLDSBSI

1)  opBolevitoment LOTHBMLD

2)  LDMBHEV

3) pBPievioTent WTBBL (1) LOMBHED

4)  Wpapearemnd CFweoT & ©IeVIeU60T LOTBBLD
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41.

Match the following
Theories of entrepreneurship

a)
b)
c)
d)

a
i)
2) i)
3 iv)
)
OIS SIS
a)

b)
c)
d)

a
i)
2) i)
3 iv)
8 i)

Process theory

Disposition theory

Economic theory

Cultural theory

b

i)

iv)

i)

iv)

c

iv)

i)

i)

i)

d

i)

)

i)

SWOHTH60 (pemeliLjdh CBTaTENSBH6T

Caweo(penms OldTeiTend

BuBuenilS OHTeTend

QummenTaTys OFHmeTens

Uewtum_Bd ClabmeiTend

b

i)

iv)

i)

c

iv)

i)

i)

i)

d

i)

i)

i)

17

Elements

Employment

Dynamic

Demand and supply direction

Development

i)

i)

iv)

G BIB6IT

Uewfleumuiriy

JONVET:Y:: )

Gxpemeu oBBID AIBCWTHE Heng

(peS1GeBmLD

M1603



42. Match the following

Authors Statement
a F.G.Moore ) Any arrangement of a machine is a layout just as
your house plan

b) M.E. Hurley i)  Plant layout involves the development of Physical
relationships of building and equipment

¢) R.C. Davis iii) Pant lay out may be defined as the work of
Planning and organization, machinery will Make
possible a satisfactory of degree Manufacturing.

d  GeorgeR. Terry iv) Plant layout is the arrangement of machines work
areas and service within a factory

Codes

D0y i) i) i)
2) i) iv) i) i)

3 i) i) i) iv)
4 i) iv) i) i)

QUTHSHHIB
Brev S FfwiTser QUTSHSBWILD

a)  egd.epf 1) 2 msel all(hd SLYL S LGHmeL CuTEIBS. @hH
BuibFrsFHer SemwliiBster G e

b) enb.8.ammG60 i) AL G S e@iug SLQLLD OBEID  HHal
®_me|Blensuderien (LPeirGemBmLD

C) oyrd.CLalend i) S G sy, PoeesAl L, Suibdrs
sULWIL Heopaueldbsd dmigul 2 _BUSHHOWF
FTHHWNIUGSHHIHE0 6160111 6UeTUIBISHBLILIL GOTLD

d ey eyt G iv) &L Gov Sl ) QsmPmBaFTanevu 6ot
BuibHTmIseT Ll SHenmiseT BBID Cgeneauuest
PUEIGPD

GIINCER

a b ¢ d
1) i) i) iv) i)
2) i) iv) i) i)
3) i) i) i) iv)
4) i) iv) i) i)
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43.

44.

Match the following

Concepts
a) Financia plan
b) Marketing
c¢) Development and production
d) Objectives
a b ¢ d
1) i) i) iv) i)
2) i) iv) i) )
3 ) i) i) iv)
4) i) iv) i) i)
QUTHSHHIB
B(HSDITEBRIHET
8 PHsBLL
b) omsmILGHHEO
C)  (PIBeBBID BB © [BLIGHS
d Gorrosmiser
a b ¢ d
1) i) i) iv) i)
2) i) iv) i) )
3) 1) i) i) iv)
4) ) iv) i) i)
Match the following
Effects of capital gearing during
trade cycles
a) Inflation
b) Deflation
¢) Cost of capital
d) Nofinancial management
a b c d
1) ) i) iv) i)
2) i) iv) i) i)
3 ) i) iv) i)
4) i) iv) i) i)
QuUTHSHHIB
Ul SHOBFUNED (LPEVSHIHMS
JMLEML WIS TG 660
egmuBLD all6en61T6) B 61T
a)  umaissID
b) e GamiteymiHe
C) W3S B GFevay
d g Pireursideeno
a b ¢ d
1) ) i) iv) i)
2) i) iv) i) i)
3) i) i) iv) i)
4) ) iv) i) i)

i)
i)

iv)

1)
i1)
111)
1v)

i
i)

iv)

1)
1i)
111)
1v)

19

Features

Financial statement

Marketing strategy and resources
Quality assurance

Long term

FHETENLOD T I 61T

bg omlbme

SIBSTYLILGSHHID CFwed HLb
CLPGUGUGTT  SLBITTRISGT

5] 2 BHIUTG

HEWIL  HT60SI66)

Features

Cost increase

Low of income of business
High capital gearing

Rate of interest

FaBIBH6IT

CFevey SIF&Ly

QlWTLITY  eu(HEUTU] (GHNB6Y

o wiflw WPHeS B gL &HSHeTenLD
QUL 191 HLb

LOBmILD

M1603



45. Match the following

Authors Books
a) Everett Hagen i)  Principles of management
b) David C. Mc Clelland i)  Achieving society
¢)  Joseph Scheumpeter iii)  Theory of economic development
d) Koontz and O Donnel iv) Theory of social change

Codes

a b C d
1) i) i) iv) i)
2) i) iv) i) i)
3) iv) i) i) )
4) i) iv) Qi) i)

CQumTmHHIH
Brev S FfwiTaser BITGVEHGIT
a) eyl Camsen 1)  Gweurewienid al&(IpeBHET
b) GLall H.wdefevevewi® i)  Fepadmsd CeuaToBBHH60
C)  Gmmerll erO&IDLIL LT 1)  QumrmenTaTy (WeGaBmes CsTeTemas
d) e ed wBpID @ GLidee  1v)  gFewpsd WOIBBES OBTeTens
GCETR

a b C d
1) i) i) iv) i)
2) i) iv) Qi) i)
3) iv) i) i) )
4) i) iv) Qi) i)

46. Match the following

Management thought Features
a)  Adaptive 1)  Social psychology
b)  Probabilistic i)  Consequent result
c) Multivariable iii)  Controllable
d)  Multi disciplinary iv) Adjust to change
Codes

a b C d
1) i) i) iv) i)
2) i) iv) i) i)
3) iv) i) i) )
4y i) i) iv) )

QUTHSHHIB
BifeuTad  boHemert GnBIB6IT

a)  FGpBlemevsGamu  ommild 1)  Fups 2 enaluled
OTeEHLD  HETTENLD

b) ansdwsseaemno i)  Laieleneney

C)  uestowiompiiee i) &L BUUBGSHBHeI6060

d ued FIOBFTIHHH iv)  IBBSHIHBCHBL HBHeUMLDG]

GIINCE

a b C d
1) i) i) iv) i)
2) i) iv) i) i)
3) iv) i) i) )
4y i) i) iv) )
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47.

48.

Match the following

Environmental issue

a) Depletion of minerals
b)  Depletion of species
¢)  Nuclear wastes
d  Solid waste
Codes

a b c d
0 i) iv) i)
2) i) iv) i) )
3) i) i) i) iv)
4) i) i) iv) i)
QUTHSHHIB

F1p60 W60 HdBHe0BH6IT
a) sl EMRIGEIBISH
b) o uifser @emiHed
C) Seelued HL6)H6IT
d gLssfe

a b c d
1) ) i) iv) i)
2) i) iv) i) )
3) i) i) i) iv)
4) i) i) iv) )
Match the following

Items of reasoning
a) Employee counseling
b)  Suggestion schemes
c) Recognition
d)  Joint consultation
Codes

a b c d
1) i) iv) i) i)
2) i) i) iv) i)
3) i) i) i) iv)
4) i) i) iv) i)
QummHHIH

USSHSIMTS  SHaben
a) emAuwm HBITFMST GUPHIGHED
b) ufpsieny H L risei
C)  SBRIBSHMID
d) ol GoHBeHIHTL 60
GIINCE

a b c d
1) i) iv) i) i)
2) i) i) iv) i)
3) i) i) i) iv)
4) i) i) iv) i)

i)
ii)

V)

i)
i)
ii)

iv)

Features

Zincs exhaustion
Catastrophic
Animal species
Toxic substances

FnBISH6IT

Mg  oemBe

GaL_Lmerol. Gyl
allevmiguiifsei

Sallenetll OILIT(HeENTEnLO&H6IT

Features

Advice

Awards

Performance based incentives
Decision making

FaBIBH6IT

1)
1i)
1i1)
1v)

21

ST
DEESER
OFweOSHB6IT ST
WP16YsIBEHSH60
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49. The long term self interests of —————— are best served when business assumes
social responsibilities.

1)  Entrepreneurs 2)  Customers
3) Business 4)  Suppliers
Campled Fepsll CQUTBIILGSmeNS MBHOHTETEHIOCUTH, HWIL &HTeD —— &l

il BT LRIG6eT HApliurs menpGeumid

1
3)

GWOSHTLH60 (LpenerGouriTaelt 2)  QUMQSHEMSHUITEITEHGT

aUemilBLD 4)  alBGwTHerOSHTHEIT

50. Business ethics is primarily concerned with relationship of business goals techniques

to specifically ———— ends.

1)  Manager

2)  Human

3)  Capital management and controlling

4)

Vaue

auenllas  OIBOEBUleET  (PHETMID  DIHEHMB  UNE  BeVHGHBEHL T  CFHTLTL ML U

o HAHB6T GPILUTS ———— (PIQEBH6IT

1)  Guevrmet

2) el

3)  cpeuse Hiteunasd oBEID &L BLILIGSH60

4)

&L

51. The three important components in aligning business strategy with HR practice:

1
2)
3)
4)

Business strategy, Human resource practices, organisational capabilities
Marketing Strategy, Human resource practices, organisational capabilities
Business strategy, human resource practices, organisational structure

Marketing strategy, Human resource practices, organisational structure

alelaF CFWLFHLLHMSH Wwald 2 meyl LUIBFUL ST QUHRISMIDHGD CLPTDl  (LPSHESIWL

FnMISH6T

1) eoumisd QFWeOSHLLID, DS cLPeLeU6T [HEDL (LPDBEHEIT, BIMIeI6ITSHHMB6IISH6N

2) QmsTQLUGSHSHID OCFWeOFH L LD, wWaldh cpsveuendF  CFWOIPEHBEHET,  HnIeI6TS
BTSN

3)  ouenlladF GFWeLHI LD, Welld LevaIeT HEWL (LPENMBEH6IT, HmieueT SienLoLL]

4) omsTRLUGSSHID  CFWeOSHIL L LD, OGN SHELPEVEUET  [HEDL (LPEmBH6T,  [Himleuerd
&L L6
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52.

53.

54.

55.

Assertion (A) : Job analysis information provides the foundations of an organizations
human resource information system.

Reason (R) :  The Job analysis information can be collected through interviews, juries of
experts, mail questionnaires, employee logs, direct observation or some
combination of these techniques.

1)  Assertion (A) and Reason (R) both are true

2)  Assertion (A) and Reason (R) both are untrue

3)  Assertion (A) istrue, but Reason (R) both are untrue

4)  Assertion (A) is untrue, but Reason (R) istrue

o mFHeurdsSwid (A) PHpeuer  elEH  cpevaleTd  HBeUD  DIEMWLILSGL el
UGUUTUIGIS HBH6ID DIYHD6ND DIMSHSBSI

amyenid (R) uediill  UGLUTUIRSH — HBeUOBM6T  GHITHTEI60,  [BILIENITSH6TSE
BHHHIBHET LTau el(pdHHiaugalll udleyser, Gmryg o BmGHTHH60
(o) BelasFHdaiear devlisefer cpeold Ggsfldseumid.

1) o pFarmsdud (A) wipd styeoid (R) SyewiGi Goul

2) o mFHamsAuwid (A) wipd smyewid (R) @yewiGid Gout ey

3) 2 mpFPeamsdwid (A) Guwui semmed &myenid (R) Guoul e

4) o2 mFPeamsdAwid (A) Gour oem spemed smyewnid (R) Goul

Job analysis is a systematic procedure for securing and reporting information defining a
1)  Specific Product 2)  Specific Job
3)  Specific Service 4)  Specific Goods

usIlILGUUTUI®| 6Tl @(H (POBIFTIHS HOL(POBWLTS BFH GBIHSH UMFUIHBEU
2 (HAUTHHAI060 HFBeUmeVLl GLUpaD. Sfelssald o Ha|HBal

1) ool Gummert 2)  oIuIlL uewi
3)  GAWILL Gxeme 4)  GAuILL QuTmL el

This insurance scheme provides adequate insurance coverage of employees for
expenses related to hospitalization due to illness, disease or injury or pregnancy

1)  Employeereferral scheme

2)  Medi-claim insurance scheme

3)  Maternity and adoption leave

4)  All of the above

SHAUBBIHSHHEL,  STWIDMLFH6L, GCBTUI, 2 160 [HLUSGHMBUTH  DLEBUIIBBIGHSTET
whHSHHNF CFevedh OFTensmw oafluiTeseEndd aupmsll  Gumgiomer ST (o
&aUCTemms OBTWILIQ(HEHGLD el ST (B HL LD

1)  emfuir @UEIUETLE FHLLb

2)  Owydleenuwid &I (S HLIb

3)  oewbmsl Cupl wBBID SHEHGOIY alGY

4)  CuoBsmpu DIMETSHHID

Training involves

1)  Evaluating the effectiveness of training programmes

2)  Developing suitable training programmes

3) Identification of training needs of the individuals and the company
4)  All of the above

LuIBd  (LpedBma6IT

1) wisdlsh FHLmselear alamenasamen WHLILIH OQFUIHE0

2) 565 LWIBFGH HILMSMET 2 (HeUTSHEHH60

3) pmeueid B@Ib SeipuTsengd LB CHameusemen @D TENISH60
4)  Gumgmplw wmeyb
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56.

57.

58.

59.

When a prospect has been identified, it is called as ——————— and is the 15t stage in
personal selling process

1) Lead evaluation 2) Buyer analysis

3)  Order generation 4)  Lead generation

eeuTsledT (BB LDGUTUILIL ST (BHLNQHBLILIL_LT6D 9I5| _ BRIBIGHTLD
OIMWSESLILGIHBH.  OIH SONBUT alBUmeT Henl (Wenpulled (PHed SLLID QLGS

1)  (WwHevmHlenev WHIILTH 2)  eummigGeun LGLUTUIER

3) eufleng o (HeuTdhasld 4)  (PHEVHMEL 2 (THEUTEHBLD

Which of the following products would be most likely to benefit from a multiple-
segment strategy?

1)  office products, such as computer diskettes

2)  staple food products, such as milk

3)  luxury items, such as diamond bracelets

4)  seasonal products, such as sterling resorts

SPHHMILUBBIET  elaleumal  QUTHLS6T, USI(WPS  UGULF  QFWeOHL L SHBHT6L
LIGLGITEML_G60T 7

1)  oeesll QUL &6, SHewflel 19erOsL (HdHeT GuTeimet

2)  umed Gumei o _ewiall OUIMHL SH6iT

3) omeugd enduwleni CUTETB L bLIFL QUTHL SH6iT

4)  eOLTedm fanT @ Gumey uGeuEhaFTT CUTHL SH6IT

The shrinking of distances due to technological advances such as computer and fax
connections by telephone, are one characteristic of what new challenge to marketing?

1)  Rapid globalization

2)  The changing world economy

3)  Thecall for more socially responsible marketing
4)  The micro-chip revolution

semiell  OFpTemevBudF el  OFTemevBHeY  @ewewilider  Gumei  GHTHEOHIL LI
(WeTBHTBBRIFEMTEL  CHTENOHMTRIBET FH(HRIGBH DRISTQLILIGSHSHI60 GBULL @ LSl
OBmHBBY LGLD?

1)  allenyeumedl 2 _60&LOUILDTSH60

2) LTEID 2 6081 OUIT(HEMTSHTILD

3)  gFewsl GuUTBILL6TeN SIRISTQLILIGSHHISHEHTET DIenLOLIL]

4) smials Feosl Yyl

Which of the following promotional budget methods wrongly views sales as the cause
of promotion rather than as the result?

1)  affordable method

2)  percentage-of-sales method

3)  competitive-parity method

4)  objective-and-task method

alBuemer  el@LUG  (WATCIBBHSHeT HMyewid  eleiml CETHHWCH SevevTH. (P96
gy UfFelsbans sHeuprer  ChTHemnHSH OamewiL  (peGerBdm LGl (1pewm 61517
D gpesssds (pop

2)  elBumeuiesr FHelFsH  (LPeOB

3)  Gumlly wBmid FIemwey (Lpenm

4) GCpré@ wBmId GFwed (e
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60.

61.

Which of the following strategies is usually followed by B2B companies with respect

to promotion strategy?

1)  Push strategy
2)  Pull strategy
3)  Blocking strategy

4)  Integrated strategy

SPHTEmID  6hd GFwedd L B2B mpeuemseng (weGaiBms Oguied S womsll

WestumpriLbhama?

1) &6lien OFwedHILLLD

2) B QFweLHLLID

3) HOLUUGBSHH OFwed S Lib

4)  @RSmabdH OCFWLGOSIL L LD

Statement I: Fixed exchange rate system is disadvantageous.
Statement 11: The government can alter the exchange rates.

1)  Statement | is correct, but statement |1 isincorrect.

2)  Statement | isincorrect, but statement Il is correct.

3)  Statement | and statement |11 both are correct.

4)  Statement | and statement Il both are incorrect.

aunddwd - | — eweuliyl  ufleunidsenen aldls Semll  HRISTEISH
aunddwd 1l — ops uflamssmer aldsmisamen OTBB (LPIQUILD

1)  eamsdwbd | gfl spemmed eurddwid |l Filwrerseis

2)  eamadwd | Fllwurerseim oyemmed eurddSlwib 1 g

3) eamdHwd | wppd | spdw  rewGo &l

4)  eamsHwd | wpppd || gfu  SreanGG FilwrasHeais
25
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62. Match the following:

List—I (Statement)

a) Independent floating exchange rate

b) Exchange rate depending entirely on
market forces

c) Floating exchange rate regime where
the monetary authorities interfere
in the foreign exchange market for
stabilizing exchange rate

d) Non convertible paper currency
a b c d

1) i) iv) i) i)

2) iv) i) i) i)

3) i) i) iv) i)

4y Qi) i) i) i)

CQUTHSHHIH:
ulpweo; | eumédwibd

a) gmums WSS UfeTdhdHemet
VL)

b) ufangsmer aldsbd (pBfeoTs
DIRIBTY AlenFHE6N FTTHIHIGTENSHI

¢ ufleutssmer  aldsHmsm
BleneolLBSSIUNSBE AHSTID
UL HCHTT oyeitefiulg GFe0mereut
SIBIBTIQUT 60 Hemeou T Beui
eIGUITOHeN60 WGHemeu  LifleuTd gHement
alpsaTh Sewiuler Gumg

d oBossueors  Guim  syed
a b c d

1 ) iv) i) i)

2) iv) i) ) i)

3) i) i) iv) i)

4y Qi) i) i) i)
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List—I1 (Term)
i)  Fiat money

ii) Cleanfloat

i)  Managed float

iv) Freefloat

ulguied Il (Qamev)

1) Wui’  Uemord

11) Herfedr L FHeme

1)  mireuddssiul L gHmel

1v)  SoLWBB LgHeme



63.

64.

65.

Under the Walter Model, if the rate of return is greater than the cost of capital:

1)  Price per share does not vary with the increase or decrease in dividend pay-out ratio
2)  Price per shareincreases as the dividend pay-out ratio increases

3)  Price per share increases as the dividend pay-out ratio decreases

4)  None of the above

aumeOLT oML el  (pFHeVl(h WFHlemu el g Hpbul Gupid aldsd  DiFHors

CLELRY

1)  @aGeur(m  UMISBE@LoTe allemev,  FOYSHOHTMD QUPRIGL  aldGD
DFHBMNHBTID  DI6VVFH GHMBHSTID  LOTHBILGHIS E6O6n6V

2)  RYHOHTS UPRIGLD alHHD  HFMHHTOL DIHBE GBU  @UCGUT(H  LIMIS6HT
alemeoujld  DIFBMHGD

3)  FeYH0HTnD APRIGL alSFHD  GHOBHSTL eelbeuTH UmISer  alleneould
SIFHBMBEGLD
4)  GupOgTerer  ETHIDIHI

Lintner Model shows that the current dividend depends

1)  partly on current earnings and partly on the previous year’ s dividend

2)  partly on market rate of return and partly on the expected rate of return
3)  partly on current earnings and partly on the expected rate of return

4)  partly on previous year’s dividend and partly on the market rate of return

ede e oTL60 @UCUTEMFHUW  FUHOBTNS  FTTHAHBLUILMSHDS ST (HSMBSH

1)  @uCuremsw eumTaISSH6 W utHud  CFem aumL  FeySHosTensuler g
UTHWOTS  DIHLDS MBS

2) omsmgsh HEHLUl  GUDID  elssd e By urHud eaHTunThsd SHbul
Cupid el&lgdFHer g LfNSHUTS SHenB B

3) @UBumemawl euBLTEISSH WH uTHUD 1B urdh aHTuTisHd  Dlenalevmer
HEHLUIOUBID  alHGHHHeT  BFH UTHULD DS DSBS

4)  &LHS eUIHL FoySHosTensuller g UTHUD LoBMILD SIBBTYSH  SHHoUL
Cupid eldssHer g LTHWYD S5 DDHBSI

The firm’s average rate of return is 15%, its cost of capital is 10% and earnings per
share is Rs.10. If the pay-out ratio is 40%, 60% and 90%, the value of share according
to Gordon’s model will be

1) Rs.105, Rs.100 and Rs.90 respectively

2)  Rs.130, Rs.120 and Rs.105 respectively

3) Rs. 400, Rs.150 and Rs.105.88 respectively
4)  Rs. 440, Rs.160 and Rs.120 respectively

Ppeuarsder  gIrefsHpbull Gupid aldlsd 15% SFear cpeoger  WHITH 10%
DIHE QUGBTI  @Uh URGHEG  cputwl 10. SleuTHengl FeydHoHTend  aUpmIEG
aldlapd  40% 60% wBmID  90% elepTed  CHATLMe LOTL 66 UMIGTF Fhendu e
WAL W)

1) ep. 105, em. 100 wBmId 90 LGSO

2) B 130 ep. 120 WLWBBID H.105 G
3)  ep. 400 5.150 BEIDd . 105.88 LG
4) . 440 ep. 160 LBLBID 120 QSO
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66.

67.

68.

69.

As a part of WT'O guidelines, Agreement On Agriculture (AOA) doesn’t consider

1)  Direct paymentsto farmers are permitted

2)  Indirect assistance and support to farmers including R & D support by govt. are not
permitted

3)  Domestic policies which directly effect on production and trade have to be cut back

4)  Least developed countries do not need to make any cuts

WTO auflam(p Oppiwopseiea @k ugHwums  aleugtusbder BHTN  @ULHSLD

Azl ufFeddsalsenso

1) eleusmilsendd Crrgwns HEH aupmGasH  DIILSH ST (BeiTend)

2)  woBWws o galub omsbHwd  eleusTulsEndhE SUIe| BB  WaTCaIBB
OIF AUPRIGLD o Halub &nl HIDHSHLILL al606mn60

3) o sigims OFmeTndsel o musbHulear 1 CwIy elemenemeus GCHTBmIeIILICTR|LD
BB aTHHBD Spdlwer WewiB Geul (B QFuiwiiiL CeuemiBLd

4)  eueni&Fd Gemw BIHSH6T eelald Geul (hdbsmenuyd OFuiwlgsh GCHemeu Ee0en6v

Trade Related Investment Measures (TRIMS) doesn’t apply for

1)  Measuresthat lead to restrictions in quantities

2)  Discouraging measures that limit a company’simports

3)  Discouraging measures that limit a company’s exports

4)  Discouraging measures that limit a company’simports and exports

ATHHHD QHTLTUTET  (1PpHeS B Senaibser (TRIMS) SeaBmis@d  QUImkbHSTS

1) oenaiBsel elanienlbmadaiey HemL Sl alHbsd CFuieue

2) @@ PpeuasHar  OBSGLHMUS  SLBUUGSHBHID omSHGHalbETH DleTaiBHel

3) @ HinleueTs et MBS mUID s BLUUBGSHS gBBILSHnL  omEbGaldbds
BIGGD  DieTaiBEe6l

4) 9O DoeesSer  gBBIoSss BB SBsGLIsmans S GULESS GBI
OBHGLH BN  mbGHalHITH  DieTaiBHBH6NT

Which is the right sequence of stages of Internationalization?

1)  Domestic, Transnational, Global, International, Multinational
2)  Domestic, International, Multinational, Global, Transnational
3)  Domestic, Multinational, International, Transnational, Global
4)  Domestic, International, Transnational, Multinational, Global

SIMHHIVH  LWIDTHeVe  Fflwmer  Ligsefler  eufleng  oiemwoliy 61g?

1) ® aMBTLB, BIHBEHHEGH DML UlevTal, 2 60FH, MOTHHIEVH, LGTeTTL (h
2) ® GMBTLB, DIMOTHHVH, LSO B, © 605, BTHHEHEHEGH el ulevTer
3) o BTG, USTL B, DIDAIHHIVH, BTHDHEHHEG Sl ulevTer, 2 605
4) ® SMBTLB, DIMANHBHIVD, BTHHEHDHEG SenLuileomer, LTl (h, 2 60

Form of government in which one person or political party exercises absolute control
over all spheres of human life and opposing political parties are prohibited

1)  Democracy 2)  Nationalisation

3)  Totalitarianism 4)  Political ideology

Beluend  OIF SMWIT0 @ BUT DL0H RH DFFWed SL(B &EH  euTpaie
SMNHHSH ~— HeTmselar  LOHID (LP(LDEMLOWIT6DT sLBUUTH  OFalSHSHIeUHID
THTHBFB6T  MASHHID. HBHHSUILLIQHLILIGID

1) wésenm gl 2)  Gxpdw wiorgHe0

3)  OQurggalub 4)  SPFlwed HHSHHTHBLD
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70.

71.

72.

Which is not an Indian multinational company?
1)  Unilever 2)  Wipro
3) Asian paints 4)  Piramd

hd @AW BbFw LeTOT G Bipieuard Sies
1) wefeSeurT 2) oGy
3)  gdlwer Guuilewr erd 4)  Uywed

Alexander of Leighton enumerative five major determinants of morale, they are
a) Confidence of the individual membersin the purpose of the group

b) Confidence of the different member of the group in the leadership and the ability of
the leadership.

c) Confidence of theindividual membersin their fallen worker

d) Organisational efficiency

e) Conditionsin the group and working conditions

1) a),b),c),d)ande)

2) b),c),d)ande)

3) a),b),c)andd)

4) b)andc)

DI060EFTERILT oI GleoulL L 63T LOGTBINEVEMUISH  SHTLOT6DT Eb(EFHLD Mh3 (%30T
aflemgd OHTGHHUIL 2 s6TeTenel.

a) oGuwala GCrrdssda 15 eIt 2 pIiahs@Gld 2 6en  HILISmS

b) ows someomw WD HEMEVENLOUT 6T QFwed Hmer  1BHID GIORIEY
CeoueiBoum o miifenTaeT CaTamngmb@GHD  HLOLISHmS

C) Guwala SHONBUTHT  HRIBENH  IDHSHILIL L LIt WIT6NT %) O mewt(Beiter
B Henad

d doeuerd QFwedHmes

€ GBI Bevald GGBmevenul WBBID UalWTBHDID  EhBlemen

1) a),b),c),d) wspid €

2) b),c),d) wpmib €)

3) a),b),c) wppib d)

4)  b) w@uid C)

An appeal is the ————— of an advertisement.
1) Theme 2) Image
3)  Color 4)  Information
WOPUIG sLE ——— D
1)  e»WSHS(H 2)  uglod
3)  Bimb 4)  BH6ID
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73. If the spot rate of US dollar is Rs. 60 and one month forward rate is Rs. 62, the
forward rate premium (p) will be

1) 40% 2) (- 40%
3 33% 4) () 33%

wjeterd  Lmeofledr eroum’ el&lFHd ap 60 @ WISHHHHEG WhHmHw alSFHD HO2 DiFHei
WaBame@l Wflw alélgbd (P) g

1 40% 2) (- 40%
3) 33% 4 (- 33%

74. Hyperglobalization is a process of globalization which
1)  Emphasizestherise of regionalism
2)  Emphasizes the decline of transnational companies
3)  Emphasizestherise of nation states

4)  Emphasizesthe rise of the transnational companies and decline of nation states

MABLILIT 2 _6UBLDWIDTHED 6T6IILISHI 2 60HLOUIDTSHED, DGl

1)  pmpglweurs SiFafilieny euedupisaHSBg

2)  mriGseEnrdSemLuleorer BHpeuamiseie aipFfenw auedunpISHISBSHI
3) GBadw syasselar oiFHaflienu auedupiSHIS MBS

4) BTGsEHEHSG SenLuleorer Hpeuamisengd SiHsiyD, Carflw opsFseiea gflajb

75. The cost incurred by the manufacturer beyond use value is called
1)  Cost value
2)  Esteem value
3)  Exchange value

4)  None of the above

LWeT WHIUSSGHS mbBHeTE 2 BUSHWTETTHET 615 TEETeTEHD OF6va]
1) OQgevey LA

2)  &Ww W

3)  ufleuTdmener WAL

4)  GuBOaTeer ag D 6Dl
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